“Trig Tables” …….






	To Find …
	Known Parts
	Formula

	A
	C,D
	C x SIN D = A

	A
	C,E
	C x COS E = A

	A
	B,D
	B x TAN D = A

	A
	B,C
	B x COT E = A

	A
	B,C
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	B
	C,D
	C x COS D = B

	B
	C,E
	C x SIN E = B

	B
	A,D
	A x COT D = B 

	B
	A,E
	A x TAN E = B

	B
	A,C
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	C
	A,D
	A x COSEC D = C

	C
	A,E
	A x SEC E = C

	C
	B,E
	B x COSEC E = C

	C
	B,D
	B x SEC D = C

	C
	A,B
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	D
	A,C
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	D
	B,C
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	D
	A,B
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	E
	90O – E = DO

	E
	B,C
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	A,C
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	E
	A,B
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	902 – D = EO


E





C





D





B





A








© 2011 Board of Regents University of Nebraska

_1372096789.unknown

_1372097022.unknown

_1372097140.unknown

_1372097170.unknown

_1372097103.unknown

_1372096892.unknown

_1372096636.unknown

_1372096721.unknown

_1372096423.unknown

